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Section 4.4 The Fundamental Theorem of Calculus 391

75, The function f is nonnegative between x = —1and 76. To find J-OZ IM: dx. use a geometric approach.

So, [" (1 - %) ax

is a maximumn for

o =-~land & = 1.

So, ['[sJex = 12 - 1) = 1.

77. Let f(x) = x*,0 < x < l,and Ax; = 1/n. The appropriate Riemann Sum is

i=1 i= "z
’}ii]l;];[12+2’+31+...+n2]=3iﬂ;l?.ﬁ(2"_+;)(_"t~lz =}ﬂ%%iﬂ=lﬂ[%+§%+gi7)=%
B 1(f) - J(f) = [, P 1) e - oo/ (x) ax
QObserve that
R FIOR IEL SRR PRSP B S S RE R Ry
So. 1(4) = (1) = [0 - 9| ax = [} 2= o 100) - 5)2 dis [ Ta-l
Furthermore, 6 + f(x) = 2. Then I(f) = |; xz(-%)dx = %and J(f)= [ 4 i; = 116_ N
So /(1) = (/) = g~ e = =

The maximum value is 1—1-6-

3 f(x) = xvx? + 1 s
[ e s 1ar =0

4, f(x) =xJ2 - x
fz 32 — x-dx is negative,

-5
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[7.]

[}

=~

10.
11,

12.

e[ -

1

w

14.

o

1

1

17.

18.

-]

19.

20.

21.

22.

tn

s

J‘ ( . tz/a dt = [3t4/3

Chapter 4 Integration

f, 6x ax = [32] = 32)" -

[ 8ar =8, = 8(1) - 8(-3) = 32

J’ (2x—1)dx

[xz -4,
0= (-0 -(-0) =

j 6x? - 3x) dx

Jor =12 dr = ['(42 - a4 1)ar = [42 -2+ 4],

—(1 +1)=-2

[(ar - 30)ax =[x - BT = @§1-27) - (1-1) = 54

L

PR =
- Do 2,272
u) 2 u, 2

J.:L——z—du = I: (ul/2 Zu“'/z)du = [%u

Vu

(’E‘ZJ C-0=3

ol

1

4u’/2:’

SEURUE:

8. [L0-3a=[n-2T
- [7(2) - %(4)] - [7(—1) -

=14 — 2 -3
=14 6+7+2'?2

1
_ 2:}
3 -1

9, j_lll(tz - 2)dr = [ﬁ
SR

4

(3¢

I

LS4

S

I

w

=[2 -3 2]} [268) - 3(#)] - [20) - 30)] = (16 - 6) - (-3 =2

-4 -
= 2+1-«§~

3

-

2
3

8
8 s _ 13 3 i3] 3 _
[ ar = [me]_s = Z[8“/3 - (-8) ] = 2(6-16) = 0

j‘_ll(i/; - 2) dt = [%t"” - 2t]l_l

Ls\/-:z;dx=\/5jlsx"/2dx

= [V2@r]

j': (2-tOrar = j: (27 - £2) o = B—F/z -

2/3 5/3

[agte- 10

-1
. 1{3 5/3 3 3/3} x5/3
o b iAT il I A CVRST
2[5" 8 |, |80 %) "

© 2014 Cengage Learning, All Rights Reserved, May not be

- (t-9-(+9)-
=[2\/§]:=

-§—t5/2]: = '[%(20 - 6:):'0 =

1
= “'8—0(39) +

8-2v2

——2‘25(20 ~12) = ——161‘5/-2-
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1]

_{ " (5-2x)dx + j (2x - 5)ax (split up the integral at the zero x = %)

[ -2J" o [ -], = (3 Ey-mon-r o ()

Note: By Symmetry, j;|2x - 5|dx =2 Ls/z (2x - 5) ax.

: I:|2x - 5|dx

L) -0+ (25-25) -

il

[+ (-3)]ar+ INER

[[xas+ [7 (6~ x)ax

2P 2P
o
25 2 4

A»L4(3—1x——31)dx - 3)]

]

i
TN
=)
I
N |
——
+
"
~~
[
N
|
=
|
7
-
)
|
o
| S—— |

26. ~j:|x2 —dx+3dx

Joo

X
3

it

—4x+3)dx— .[13(x2 -4x+3)dx+ j':(xz -

= 4161842 = 2
2 2
J:|x2~9ldx= 15(9—x2)dx+j: (x2—9)dx(splitupintegralatthezerox=3)
37 3 4
=[9x—i‘~ +[x——9x =(27-9)+ (--36]—(9—27):ﬁ
) R 3

4x + B)dx(split up the integral at the zeros x = 1,3)

1 3 3 3 4
20 +3x ) =|Z —ox? 4 3x| +| X 2x? 4 3x
3 I A

0 i

%-2+3) (9-18+09)+ (—-2+3) (-6-33-32+12j-(9—18+9)

=i__0 i+i_() 4
3 33
27. I (1+sinx)dx = [x~cosx] (z+D)-(@-)=2+7
.f:(2+cosx)dx=[2x+sinx]: =(2r+0)-0=
s 2
rr/‘tl—sxzn 9d¢9 _ d6 - [0]n/4 K2
¢ cos*d 4
/4 sec’ @ _ (sec” G as _
L‘ tan® 8 + 1 —jﬂ sec249d‘9_".0 [] 4
".”/6 se:c%cdx:[tanx]"/6 —ﬁ— —ﬁ =—2-—\—/§
~/6 3 3 3 .
J."/Z(Z—csczx)dx=[2.x+c0t:x]”/2 = (7 +0)- Zol=Z_1-= z=2
o e =\ 2 ) T
' J.j:j34sec9taﬂ9d9 = [4 sec 9]"/3 = 4(2) - 4(2) =

© 2014 Cengage Learning. Ali Rights Reserved. May not be scanned, copied or duplicated, or posted to a publicly accessible website, in whole or in part.




394 Chapter 4 Integration

7 2 2
34. .[.7/;2 (2t + costydr = [tz + sin t]”lz = (”_ + ]] _ (_”__ _1l=2

2

35 04=[[(x-s)a=|E -2 -1

0o T 273,75

2

36. A~=j2l2dx=[,l] 1

! x xj 2
37. 4= _[/ cos x dx = [smx];'/2 =1

” 2 d 2 2
38.A=I(X+Sinx)dx=f—-~cosx NP k.

0 2 2 )

39. Because y > Oon [0, 2],
arei= [(sx?+2)dr=[3 + 2] = L+4=2
40. Because y > Oon [0, é],
Area = [ (x* + x)dv = 7+i‘2— =4+2=6.
41. Because y > Oon [0, 8], .
8 1/; 3 ap i 3
Area=»_[(l+x)dx=x+—x =8 + =(16) = 20.
0 it 3

42. Because y 2 Qon[0,4],

Area = .[: (2\/; - x)dx

24

2
= J'4(2x‘/2-—x)dx= Ao XN '3-2-—8 = §
0 ‘ 3 2y 3 3
43. Because y > Oon [0, 4],-
5 -4
Area = I:(—xz + 4x)dx = -—3;—+ 22| = —ﬁ+ 2= %
i)

44, Because y > Oon [fl: l],_

Area = .[.11 (1 —‘x“)dx

- 2f) (1)

s
=2x-X =2(_.1_)=§_,
5
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-~




Section 4.4 The Fundamental Theorem of Calculus 395

[0 ds = _4]3 _8 49. j”:; 2sec? x v = [2tan ] = 2(1) - 2(-1) = 4
0 ) O“\
7 3
. r0z-(-2) -« )
e -0 -4 e
27 2sec’ ¢ = kd
fe) = "y x
4
2 = —
o= % sec® ¢ .
2
. 3 3 SeC ¢ = T—me
\ ¢ = 2 =237 ~ 18899 G
i 2 [ ) J
) ¢ = farcsec| —=—=
> -
6. [ ~xadr = [2] =327 -8) = % p
= iarccos~—2—~ ~ +0.4817
o -4) =%
YORS 50. Zj} cos x dx = [sin x]’_t/:/3 N
\/E . 38 , .
15 7 T
Z -2 =3
c =1~ 64178 f(c)B L 3J 3
NE)
6 x* % ’ 216 ' cose = 2z
Zodx == =22 =18 v
0 4 12 ) 12 : ¢ = +£0.597]
f(c)(6 - 0) =18 . 51 ___L__J‘J (9 _ x2>dx - l|:9x ~ _l_xg:|3
fle)=3 3—(-3)"-3 6 31,
c? 1
£ . ==(27-9)-(-27+9
" 7 -9) - (27 + 9] Y
e =1J12 =6 ! )
c =23 Average value = 6 N
9~ x* = 6when 2 = 9~ 6or x = /3 » £1.7321.
(~2\[§ is not in interval.) ©
o 3 (~v1.6) (v3.9)
48. I3%dx:[_iz]=—l+2=4 VARV,
Lx 2x* )i 2 2
- fle)3-1) =4 - s
4]
2.2
fou B 1 3 4(x2 + 1) 3 =
03 _2 52. -3—_—i-L _):2 =2L (1+x )dx
B 2 _ 2[ ~ _]_:r
c=3%'~v1.6510 X

10

Average value = —Iéé

M=l§:x=\/§(on[l,3]) U

x? 3
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396  Chapter 4

Integration

53 L [ oo [ * }‘ _1 58. The distance traveled is j.os v(?) dt. The area under
"1-0Y
-0 oo 4 curve from 0 < ¢ < 5is approximately
(29 squares) (5) = 145 ft.
Average value = —
: ! 59. (@) [ /(x)dx = Sum of the arcas
==
4 (i/ilj =A1+A2+A3+A4
3 Vi
w= oL X2 e300 A =13+ +3(0+2)+ 32+ 1)+
4 2 L~ b
0 =8
¥
1 s 2 T a7 =
54, =% 0(4x —Bx)dx-[x —x]o—O
Average value = 0 .
45 - 3x? = 0
x*(4x -3) =0
x =0, %
1
/ (b)
/
oo B 0_}~ / 1 ©
R : 10
-026 Average value = ~— = -3-
S5. sin x dx = [—-l cos x] -2 7+
T — 070 V.4 o 2 6
Average value = 2
z
. 2
sin x = —
7
x =~ 0.690, 2.451
2
(0690 2) 60. r(t) represents the weight in pounds of the dog at time #
b (z451.8)
£ F\\ = I: r'(t) dit represents the net change in the weight of the
- from year 2 to year 6.
61. (a) F(x) = ksec® x
56. ——l—r/zcosxdx— —2—sinx“/2 -2 © (x)
" (/2) -0 o, 7 F(0) = k = 500
2 s F(x) = 500sec? x
Average value = — ! 5 1500
z . (0881, ) ®) ——— I " 500 sec? x dy = —|tan x]:/3
2 7/3 - 090 T
cosx = — .
T o 2n _ 1500 N 0)
x =~ 0.881 A ' (
~ 826.99 newtons
57. The distance traveled is _[: v(¢) dt. The area under the ~ 827 newtons
curve from 0 < ¢ < 8is approximately R
(18 squares) (30) ~ 540 ft. 62. _1 (R k(Rz - rz)dr -k R - .'f. = E_kﬁi
R-0-0 R 3 3

©2014 Cengage.Learning. All Rights Reserved. May not be
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!

5 5 [7(0.1729¢ + 0152212 ~ 0.0374) dr ~ 2[0.08645¢ + 0.05073F — 0.00935¢4T ~ 0.5318 iter
3. 5 — QJ0 . 5 0
4. () ¢

| NN N
¢ R R
"/ g
-
The area above the x-axis equals the area below the x-axis. So, the average value is zero.
()
»"OJIS"
s
P
4] 24
0
The average value of S appears to be g.
5. (a) v = ~0.00086> + 0.0782:> — 0.208¢ + 0.10
® e
I ahda
~
.!.‘/‘
10 [ 7
-10
_ 4 3 2 60
©) I:O v(e)dt = 0.0(2086:‘ + 0'07382t _ 0208 +0.10¢t| =~ 2476 meters
o
66. (a) Because y < Oon[0,2], J: S(x)dx = —(area of region 4) = -1.5.
6 . 6 2
) L J(x) dx = (area of region B) = _[0 S(x)ax - J‘O f(x)dx = 3.5-(-1.5) = 5.0
6 2 6
© [, |l7@)ar = =[ f@ax+ [ f(x)dr =15+ 50 = 65
) S
@ [ -27(x)ax = 2] f(x)dx = ~2(-1.5) = 3.0
© [[2+70)]ax = [2di+ [ f(x)ds =12 435 =155
(f) Average value = %j: f(x)ax = £(3.5) = 0.5833
67 F(x) = [C(4-T)dt = [262 = 7t] = 207 ~ Tx
F(2) = 2(2*) - 7(2) = -6 :
F(5) = 2(5%) - 7(5) = 15
F(8) = 2(8%) - 7(8) = 72
'© 2014 Cengage Learning. All Rights Reserved. May not be d, copied or duplicated, or posted to a publicly accessible website, in whole or in part.
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398 Chapter 4 Integration

68. F(x) = j'; (£ +2t-2)at = [% +1 - 2t]x
2

FQ)=4+4-4-4=0 I:Note: F2) = I;(F +2 - 2)dt = o]

F(5) = %+ 25-10 — 4 = 16725

5 5
= T-&xz—~2xJ—(4+4—-4)=—4—+x2~'2x~*4

4
F(S)-—f%+64—16~4=1068

20 e 5 20T
69. F(x) = | Sdv=[T20v b = -_v_l
=—39+20=20(1—l)
X X
F(2) = 20(3) = 10
F(5) = 20(%) = 16
F@§) =203 =%
(" 2 _ LI _lx_]
70. F(x) = 2~t—3dt—-—L 2 dt-t—zl_?
11
F(2)=Z—Z=0
F(S):J...._l.=_ﬁ=_021
25 4 100
1 115
F8 A e — T
O-G 71 &

71 F(x) = _‘Tcos&dé’ = sinﬂ} = sin x — sin 1
)

F(2) = sin2 - sinl ~ 0.0678
F(5) = sin5 - sinl » ~1.8004
F(8) = sin8 — sin1 ~ 0.1479
"
72. F(x) = IOX s1n 0do = ——cos@]o
= —cos X + cos 0
=1~ cosx
F(2) =1-cos2 ~ 1.4161
F(5) =1-cos5 ~ 0.7163
CF(8) = 1-cos8 w 1.1455

7

w

. g(x) = [, s
@ (0) = [, ()t = 0
g = [ /= a+2+1=7
g@=[ r)a~7+2=9
86 = [/ 9+ (1) =8

g®) = [ fdr~8-3=5

(b) g increasing on (0, 4) and decreasing on (4, 8)
(c) gisamaximumof9at x = 4.

@

w
.

74, g(x) = [ 1()a

@ &0 = [ /e =0
£@) = [} fOd = 49 =
g(4) = [} f(t)ar = ~3(4)4) = -8
g(6)= [, f(at = -8+2+4=2
g(8) = f: f)ydi=-2+6=4

(b) g decreasing on (0, 4) and increasing on (4, 8)
(c) gisaminimumof ~8at x = 4.

(D ¥
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~2an 16
3 3
%(;;3/2 - 8)

o fin 8]

79. (a) . !:/4 sect tdt = [tan t]:“ =tanx — 1

(b) %[tan x — 1] = sec? x

80. (a) J‘:/a sec!tanfdt = [sec z‘]fr/3 = secx - 2

d
b) — -2 = t.
(b) dx[secx ] = secx tan x

81 F()

[ - 2)a

F'(x) = x* = 2x

8. F(x) = | L

2 +1
t ‘xz
0=
8. F(x) = [ Vrs1a

Fl(x) = x* +1

@ [ +)d= [ (P+i)a
L]
ERIEPUETA

NP I

Section 4.4

84.

8s.

86.

87.

88.

89.

The Fundamentai Theorem of Calculus 399

Fay= [ Yrar
Fix) = U=

3
—
o
S~
fi

X
.{0 tcos! dt

F'(x) = xcos x

=
—~~~

L
)

i

.
Io sec’ t at

F'(x) = sec’ x

Flx) = j'm (41 + 1) dt

=2 + trz
= [2(); v (x4 2)] -2 + 4]
= 8x + 10
F'(x) =8
Alternate solution:
F(x)= [ (4 + Y a
= [P yar s [ (4 )a

B j: (4r + Dy + L‘;h (4 + 1) ar
Fx)= ~{(4x + 1)+ 4(x+ 2)+1 =8
F YR LAl
(.x)—J._xt = 7=
F'(x) =0

—x

Alternate solution:
F(x) = J: £ dt
= j_ox 2t + IO‘ 2 dt

=-[7 Pdr [ Fdr
) 0 v0

»

Fi(x) = -—(—x)B(—l) -+ (x ) =

Fx) = [ Nid = [0 = 3sin "
F'(x) = (sin x)"*cos x = cos x/sin x

Alternate solution:

Fa) = [ i |
F'(x) = /sin xgx—(sin x) = /sin x(cos x)

© 2014 Cengage Learning. All Rights Reserved. May not be scanned, copied or duplicated, or posted to a publicly accessible website, in whole or in part.




400" Chapter 4 Integration

2 2 2 )
. -2 - - H 2
9. F(x) = rz PP Il I {___17} = 92. F(x) = [ sin6”do
2 -2, 2], 28 \
Fi(x) = 258 F'(x) = sm(x2) (2x) = 2x sin x*
Alternate solution: = [F
P 93. g(x) = [ f(t)ar
F) = [, a £(0) = 0.6() ~ 3.2(2) ~ 1,2(3) ~ 4, 2(4) =
Fi(x) = (XZ)‘3(2x) = 255 ‘ g has a relative maximum at x = 2.
91. F(x) = J:B sin £ dt o
14 L g
Fl(x) = sin(JcS)2 - 3x% = 3x? sin x° - : Ny
4 2 3 4
T \/
-2
4
9. (a) g(r)=4- l
/lim g(t) =4
Horizontal asymptote: y = 4
: X 7 _ _ 2
(b) A(x) = fx(4—i2]dt=l:4t+i] caxs g -8+ a 4x-)
1 t t] x x : x
lim A4(x) = 1im(4x+i~8J =0+0-8=o
X~ X~300 X :
The graph of A(x) does not have a horizontal asymptote.
95. (@) w(t)=5-7,0<tr<3
Displacement = Ia (5t - 7)ar = 5 7t 3 =4 21 = 3 ft to the right
0 2 T T2 2

(b) Total distance traveled = [ |5t - 7|as
s 3
= [, (7 -sd+ L/S (5t -7

2 s . 2 3
= [7t——5L:l +[5—t-—7t]
2 (i 2 75

-4 -4 )

49 49 45 49 49 113
SR ) A

=2 LI

-+
5 10 2 10 5 10
96. (@ vt) =1 —t-12=(t-4)(r+3),1<¢t<5

Displacement = L ’ (t2 -t~ 12) dt

2 15
—t—-12t =(—l—2—§—§—~60)—(-1-—l—12)= _36 (ﬁﬁtotheleﬁ)
2 : 3 _ 3 03

It
—
W
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) Total distance traveled

il

Displacement

(b) Total distance traveled

08. () v(t) = > - 82 + 15t =

it

Displacement

!4
= -Z-_

625
4

(b) Total distance traveled

Total distance = 6—43- -

99 (@ ) =

Because v(t) > 0,

(b) Total distance = 2 ft

31082 +27r - 18
[

4 3 e 7
=[5__10t L2 —ISr]
1

Dlsplacement = J'I V2 dr =

Section 4.4 The Fundamental Theorem of Calculus 401

4 5
L (- + 1+ 12)dr + L ( —t—lz)dt
3 2 4 3 2 5
EAL ST, ¥ S LA S
373 132 \
[~§ﬁ+8+48) ELI 12) (25-—35—~60J (ﬁ-s 48)
3 372 3 2 3

104 73 [ 185) ( 104) 79
— e = - e 2 s
3 6 6 3 3

=(t-1)(-3)(r-6,1<1<7

#

— 10/ + 27t —'18) dt

4 3 2
= Z_E_(’/_B)Jr?j_@_lg(n _[_1._1_9 —2—7——18]
4 3 4 3 2

In

J‘: [ v(z)|

]13 (# =102 + 270 - 18) dt - j: (¢

I

- 102 + 27t - 18) dt + jﬁ’ (?

Evaluating each of these integrals, you obtain

Total distance = 13@ —( 63) 412 o %3— ft

4 12

Ht-3)r-5,0<r<5"

(-8 + 150 ar
0

83 1527
— + A
32

8125) |

= T T o ﬁtothenght

3 2
= jos ‘v(t)l dt

D -2 v 1s)de - [7(F - 82 +150) at

Evaluating each of these integrals, you obtain

(_E) =23 L oosh
3)" 12

—l_t 4

Displacement = Total Distance

= 2 ftto the right

[2t'/2]

© 2014 Cengage Learning. All Rights Reserved. May not be d, copied or duplicated, or posted to a publicly accessible website, in whole or in part.
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402 Chapter 4 Integration

100. (a) v(r) =cos t, 0 <t <37

" Displacement I:” costdl = [sin t]g" =0ft

]

- . #f2 3n/2 s7/2 3z
(b) Total distance IO costdt ~ L/z costdt + Ln " costdt - L” " cos ¢ dt

[sin t]g/2

- [sin t]i';f + [sin t];:ﬁ + [sin t]Z/z =1-(2)+2~-(-)=6

\

oL () = £ - 6 vor-2

W) =3 - 12t + 9 =3 - 4t + 3) = 3~ 3t - 1)
INEOIE ‘.

[ 3)(c - 3 - 1) a

3, (¢ - 4+ 3)a ~3 [ -4+ 3)dr + 3[5(;2 =4+ 3)dt = 4+ 4+ 20 = 28 units

Total distance

I

i

102, x(t) = (b~ D -3° =P -77 +15t -9
x'(f) = 3% - 14t + 15
Using a graphing utility,

Total distance = Lflx'(t)]dt ~ 27.37 units.

103. Let c(f) be the amount of water that is flowing out of the tank. Then ¢'(f) = 500 — 5¢ L/min is the rate of flow.

2 18
[ e = [ " (500 - 5r)ar = [som - -5-’—] = 9000 — 810 = 8190 L
0 o 2],

104, Let c(¢) be the amount of oil leaking and ¢ = O represent 1 p.m. Then ¢'(f) = 4 + 0.75¢ gal/min is the rate of flow.

(@) From 1 p.m. to 4 p.m. (3 hours):

3
L: (4+ 0750 dt = |:4t + %ﬁtz]

l—?— = 15.375 gal

i}

0
(b) From 4 p.m. to 7 p.M. (3 hours)

]

, 6
INGIEETE [4: + 9‘%’3:2] 22.125 gal
( 3
(c) The second answer is larger because the rate of flow is increasing.
105. The function f(x) = x%is not continuous on [-1, 1}
LI} __‘ L L
[5an= [ xPdes [ 57 ax

Each of these integrals is infinite. f{(x) = x2 has a nonremovable discontinuity at x = 0.

106. The function f(x) = —Z?is not continuous on [-2, 1].
x

[ipa=lmat 5

2 53 2 ¥

Each of these integrals is infinite. f (x) = —é—has a nonremovable discontinuity at x = 0.
X
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. . . 7 3w
The function f(x) = sec? x is not continuous on [Z TJ

2 safa
3ﬂ/“seczx.clx = I"/ sec? x dx + jﬂ/ sec” x dx
./ #/4

#f4 72
Each of these integrals is infinite. f(x} = sec’ x has a nonremovable discontinuity at x = 5

: . . . n 3w
.:The function f(x) = csc x cot x is not continuous on [—i, —5—]

. 222 T . Inf2
j”/ csc xcot x dx = J cscxcotxdx+.[ csc x cot x dx
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Each of these integrals is infinite (x) = ¢sc x cot x has a nonremovable discontinuity at x = 7.
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P = —2~j”/2 sinf df = [——z-cos 09} = —3(0 - = 2~ 611%
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Let F(t) be an antiderivative of f(r). Then,
[ sy ar = [F () 4 = F() - F(u()

(%)
;((; () dtJ %[F(v(x)) — F(u(x)) = POWE) - FE@e) = W e) - b))

]

it

zl

1.- True

2. True

, _ ifx ] y 1

3. /() = [ Tt X el
By the Second Fundamental Theorem of Calculus, you have f'(x) = (l/x)lz " 1(——;}2—) t l+ = +1 5+ 1+ ]
Because f(x) = 0, f(x) must be constant.

x : x 5

& [ f(0)d = 5 452 1. 6(x) = [J[s[ 0 ar] @
Let f(r) = 21 + 1. Then @ 6(0) = J.OD [s .'.o 0 dt] b
[ r@a = [T @+ a =7+ = () Let F(s) = s [ £(r) .
Frx-ct-c=x4x-2 ’ G(x):I:F(s)ds

~ct—¢=-2 ‘ s
Fare-2=0 G'(x)=F(x)=on 7(t)a

k!

(c+ 2 (c-1)

So, f(x) = 2x+l,and ¢ = lorc = -2.

0=c=1,-2, G(0) =0, f(t)ydt = 0

- f)+ [ r@)a
@ G°(0) = 0. 7(0) + [0 rya=o

i

() G'(x)
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